A2 € EH

» 010t Tllsl= RESL A2 F0| Tl ool w2t HPE + ASLICH

11Y(E) olxato| YMIE| ARE MY(E) olxjato| JMIE| BRE
A2t =R A2t g3 g

09:00 | 1= UA vs 1A I XE 09:00

09:20 s NSBC vs H|Z|L|A|E] 09:20

0940 | 15 YKK A vs Gwacheon 09:40

10:00 s ICMS vs 11¥TOP B 10:00 nk= Tt 0|=2A vs hirin
10:20 s UA vs IYTOP A 10:20

10:35 | 115 NSBC vs CLUTCH 10:35

1055 | 115 YKK A vs 1234 Q 10:55

11:15 s ICMS vs YKK B 11:15 ne= ot o|Z2A vs RKDR
11:35 | 15 IAUTOP A vs |4t IFE 11:35

11:555 | 15 CLUTCH vs H|Z|L|AIE]| 11:55

12:10 s X022 vs Gwacheon 12:10

12:30 s YKK B vs 1YTOP B 12:30 nk= RKDR vs hirin
12:50 | O[HIE 2785 MEIX| 12:50 | O[HIE 285 HEIX|
13:10 | 2|(E) | SHRIEALX vs BIHOXO{HARX 13110 | 2E(H) MCHZA vs ZHXL
13:30 | 2|3(d) | HIYE HHA vs JHHBEHUE 13:30 | RE(H) MCHEB vs AMMI0|E
13:45 | 2|1() | SHELHZIQIN| vs A ZA| s 13:45 | @E( ZHo[H vs FFEHUO
14:05 | 2|3(d) | eh&3I0|2 vs JBY SPORTS 14:05 | @E(H) OIAEIR vs QOISIATX
14:25 | 2|1() | SMEfRARX vs CIYE Hi{A 14:25 | 2E(H) RILXL vs MLHZA
14:45 | 2|1(d) | HLO|XOPHARX vs JfEEIM 14:45 | 2E(H) LUK vs MLIEB
15:05 | 2|(d) | StsWzIN vs oh&dnj2 15:05 | 2E(H) RNT vs EH|0]3
15:20 | 2|3(H) | dEAIsT?ER] vs JBY SPORTS 15:20 | RE(H) ZImH vs OIAHZ
15:40 | 2|1(d) | JHHBEUE vs SEEEATX 15:40 | 2E(H) A0S vs T
16:00 | 2|3('e) | JBY SPORTS vs SH=LHZIQIA| 16:00 | 2E(o) MCHZA vs AMLCHEB
16:20 | 2|3() | eH&EI0|E vs AEA|STEHZ] 16:20 | 2LE(H) LOIStATX ys RNT
16:40 | 2|1(d) | HIE HHA vs HHOXOPHATX 16:40 | RE(H) ZHO|AH vs OAES
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s 10%4 127] 09:00
s 10% 277| 09:20
QE(H) FEUG vs ROIotAIE 09:40
QI (L RNT vs OFAES 10:00
2E(%) LRt vs MMIO|E 10:20
RE(H) R2UX}t vs MCHEB 10:35
s 8% 17| 10:55 8% 377
s 8% 277| 11:15 8% 4747|
I LOIStAR X ys ElH0|H 11:35 RNT vs 2ZLIHC
2E(%) MAO|E vs MCHEA 11:55 WX vs LHXL
12:10
12:30
O|HIE B MzIX| 12:50 FE MEIX|
2| 2(h 62 147 13:10 62 27|
13:30
13:45
s 42 147) 14:05| 15 472 27|
2E(¢) 47 1391 14:25 | @E(0) 47 239
E(H) 47 137| 14:45 | QE(H) 4% 2349|
2| 2(h 42 1247 15:05 | 2|73(L) 472 2747|
15:20
e eEPS 15:40 () L)
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